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The probability that a football team
wins a match is 0.3
The probability that they draw is 0.5

The football team plays two matches

A win is worth 3 points, a draw 1 point
and a loss 0 points

Calculate the probability that the team
scores at least 3 points over the two
matches.
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The cylinder and cube below have the
same surface area.
Find the side length of the cube, x.

b2 > 328,700 és
%t =

s 319 .294. gl O
X 2347 cm
Find the length of BC A
- >7 ‘
__%,_, % ::,,— 7.8cm
9 95 it
¢
2% {4 -bhem
B ya
W is inversely proportional to the of A _ o
square root of c. Sl I S =
s b
When w =2, ¢ =100. Jz w2re ]
A Vaw
Find w when ¢ = 400. L
k= 2o

© Corbettmaths 2021



